Intro Video: Section 5.2
The Definite Integral

Math F251X: Calculus |



16 £69350, Y
He ovee. wnder Hu cuvve
W weasured aa Hae dbfatc i"w

b
\ i B He \ategranl ‘f"“""\
{ (<) dix o to b o
0.: £ dx



b




b
HDUO 0 wrke down a Liaut %uw@ Yo L £6) dx -

(0\ R'\ﬂw\ammg 8uw\\

por™
| <) £6<)
TN e 89,0
g (007 it (arl]
‘ I'\J(O n udk |
o TN —= peas D
W ‘D’( oL p\eca, 'S \0;\0\1 : AX {(a+4Ax) ot S2X)
We will ug right-hand endpoints 4o defonuhe o rectargle hasghe
(@v\&‘ OQQ,O-P W‘0§4A Swds \davt coun LAt owuq SWLL 'ooi/u‘!)
A )\
areo Y all v rechngles = Z_F(M Lb"é' A x
. it




%: (Rven ‘P(Q that 1 Sq{%eidew%\.] mic (" i/\ka/adoln")

{\CDf Ws, { s conbawdus o [ qu’{—c v leer ar( loles [ 6w

‘_OulO]) w DQ-Q’&‘\M
f“o "
fRdx = Kow Z-C(a+ {AX) © AX
- nW—Vv 0o L
& .
UD(MA—Q AX = _b;\o\




O (¢ =1 (D2 O $0dde-24 =3

=2
-2 ¢

© (4@a=2(O(-1N:"y O ted=0
! .

\ 4
©, ff(*\4x= L Endre V\*‘@“-Q= §4‘(»adx=%4z +L+2+0=(63
O

-3

R
g -C(‘DJM:ZLZJ—s-r.?
=1



¢ b b

@ g L (x)dx ¢ §€(k\A¥ S \(vf(v\dx
18 C O~
Q b

/N



